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QUESTION 1

Which three statements are true about the different types of measuring components? (Choose three.)
A. Seconds-per-interval (SPI) is one of the attributes of scalar measuring components.

B. Only physical measuring components reference a device configuration.

C. The terms register and channel are synonyms for measuring component.

D. The measuring component types are physical, standalone, scratchpad, and TOU.

E. Scalar measuring components contain a single measurement for an arbitrary period of time.
Correct Answer: CDE

Reference: https://docs.oracle.com/cd/E18729 01/pdf/E18293_01.pdf (36)

QUESTION 2

How do you ensure that specific Validation, Editing, and Estimation (VEE) rules are applied to estimated
measurements?

A. by adding the VEE Group to the Device Configuration Type

B. by adding the estimation rules to the Manual Override VEE Group to the Measuring Component Type
C. by adding the VEE Group to the Device Type

D. by adding the VEE Group as the Fallback VEE Group for the appropriate VEE role

Correct Answer: B

QUESTION 3

What correctly describes the order in which algorithms, if plugged in, are executed when a bill changes from the
"Pending" state to the "Complete" state?

A. Service Agreement Type - Pre-Bill Completion; Service Agreement Type - Bill Completion; Customer Class - Pre-Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion

B. Customer Class - Pre-Bill Completion; Customer Class - Bill Completion; Service Agreement Type Pre-Bill
Completion; Service Agreement Type - Post-Bill Completion

C. Customer Class - Pre-Bill Completion; Service Agreement Type - Pre-Bill Completion; Customer Class
- Bill Completion; Service Agreement Type - Bill Completion; Customer Class - Post-Bill Completion

D. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Customer Class - Post-Bill Completion
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E. Service Agreement Type - Pre-Bill Completion; Customer Class - Pre-Bill Completion; Service Agreement Type - Bill
Completion; Customer Class - Bill Completion; Service Agreement Type - Post-Bill Completion; Customer Class - Post-
Bill Completion

Correct Answer: D

QUESTION 4

Measuring components are either subtractive or consumptive. Which statement correctly describes these two
concepts?

A. Subtractive measuring components are associated only with water service, whereas consumptive measuring
components are for gas and electric services.

B. Subtractive measuring components are used to measure demand, whereas consumptive measuring components are
used to measure how much was consumed since the previous reading.

C. Subtractive measuring components are associated with deductive meters, whereas consumptive

measuring components are not.

D. A subtractive measuring component\\'s consumption for a given period of time is the end measurement minus the
start measurement. A consumptive measuring component\\'s consumption is simply the measurement itself, and
represents the consumption for the period of time since the previous measurement was taken.

Correct Answer: B

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_ 0_2.pdf

QUESTION 5

How many derived values can a final measurement have in addition to the primary measured value?
A 2

B. 15

C.10

D.5

Correct Answer: C

Reference: https://docs.oracle.com/cd/E18729_01/pdf/E18293_01.pdf (80)
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